500

1000

1500 \__—

2000

focus 7873 7s HighRes 0
UTC 2025-03-20 03:25:50.60
Meag T3%03.627
'@ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.492
maxXx = mean + 15 o = 350.659
3000 SIS 7873.0
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1500 \—

2000

focus 7873 7s HighRes 1

UTC 2025-03-20 03:26:00.60

Meag T33603.649

0 = 3

2500 Exposure Time =7.0 s

ModeO

min = mean -1 o = 300.513

max = mean + 15 o = 350.687
3000 Focus = 7873.0
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500

1000

1500 \—

2000

focus 8373 7s HighRes 0O
UTC 2025-03-20 03:26:14.14
Meag T43§O3'637
" @ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.488
max = mean + 15 o = 350.876
3000 Focus = 8373.0
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500

1000

1500 \—

2000

focus 8373 7s HighRes 1
UTC 2025-03-20 03:26:24.15
Meag TSEiO3.629
" @0 = 3
2500 Exposure Time =7.0 s
ModeO
min = mean -1 o = 300.477
max = mean + 15 o = 350.9
3000 Focus = 8373.0
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1500 \—

2000

focus 8873 7s HighRes 0O
UTC 2025-03-20 03:26:37.73
Meag T43603.652
" @ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.506
max = mean + 15 o = 350.84
3000 Focus = 8873.0
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1500 \—

2000

focus 8873 7s HighRes 1
UTC 2025-03-20 03:26:47.81
Meag T4%03.660
A=)
2500 Exposure Time =7.0 s
ModeO
min = mean -1 o = 300.52
maxXx = mean + 15 o = 350.758
3000 Focus = 8873.0
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1500 1 — —

2000

focus 9373 7s HighRes 0
UTC 2025-03-20 03:27:01.30
Meag I43O3 .638
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.497
max = mean + 15 o = 350.741
3000 Focus = 9373.0
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1500 \

2000

focus 9373 7s HighRes 1
UTC 2025-03-20 03:27:11.24
Meag T6%03.664
" @0 = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.498
max = mean + 15 o = 351.14
3000 Focus = 9373.0
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500

1000

1500 %—

2000

focus 9873 7s HighRes 0O
UTC 2025-03-20 03:27:24.72
Meag T43103'660
" @ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean -1 o = 300.519
max = mean + 15 o = 350.782
3000 Focus = 9873.0
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1000

1500 *—

2000

focus 9873 7s HighRes 1

UTC 2025-03-20 03:27:34.80

Meag T33§O3'640

1 0 = 3

2500 Exposure Time =7.0 s

ModeO

min = mean - 1 o = 300.5

max = mean + 15 o = 350.732
3000 Focus = 9873.0
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1500 %

2000

focus 10373 7s HighRes 0
UTC 2025-03-20 03:27:48.46
Meag T43603.677
" @ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean -1 o = 300.531
max = mean + 15 o = 350.864
3000 Focus = 10373.0
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1500 **

2000

focus 10373 7s HighRes 1
UTC 2025-03-20 03:27:58.48
Meag T5%03.661
" @ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean -1 o = 300.511
max = mean + 15 o = 350.914
3000 Focus = 10373.0
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1500 _i——:

2000

focus 10873 7s HighRes 0
UTC 2025-03-20 03:28:12.32
Meag T63é03.691
" 0 = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.523
max = mean + 15 o = 351.209
3000 Focus = 10873.0
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1500 %—‘

2000

focus 10873 7s HighRes 1
UTC 2025-03-20 03:28:22.33
Meag T7%03.683
@0 = 3
2500 Exposure Time =7.0 s
ModeO
min = mean -1 o = 300.513
maxXx = mean + 15 o = 351.238
3000 Focus = 10873.0
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1500

2000

focus 11373 7s HighRes 0
UTC 2025-03-20 03:28:35.85
Meag T63§03'687
@ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.525
max = mean + 15 0 = 351.118
3000 Focus = 11373.0
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2000

focus 11373 7s HighRes 1
UTC 2025-03-20 03:28:45.76
Meag ;73103.678
' 0 = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.307
maXx = mean + 15 o = 354.245
3000 Focus = 11373.0
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2000

focus 11873 7s HighRes 0
UTC 2025-03-20 03:28:59.46
Meag ;83603.692
@ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.306
max = mean + 15 o = 354.478
3000 Focus = 11873.0
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1500 N

2000

focus 11873 7s HighRes 1
UTC 2025-03-20 03:29:09.27
Meag T93é03.691
" @ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.492
max = mean + 15 o = 351.664
3000 Focus = 11873.0
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2000

focus 12373 7s HighRes 0
UTC 2025-03-20 03:29:22.84
Meag T7%03.723
' (0 = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.547
max = mean + 15 o = 351.376
3000 Focus = 12373.0
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1500 %——‘

2000

focus 12373 7s HighRes 1
UTC 2025-03-20 03:29:32.75
Meag T93§03'706
" @0 = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.515
max = mean + 15 o = 351.579
3000 Focus = 12373.0
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1000

1500 *_———__

2000

focus 12873 7s HighRes 0
UTC 2025-03-20 03:29:46.40
Meag T63603.702
o = 6.
2500 Exposure Time =7.0 s
ModeO
min = mean -1 o = 297.536
maxXx = mean + 15 o = 396.189
3000 Focus = 12873.0
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2000

focus 12873 7s HighRes 1
UTC 2025-03-20 03:29:56.36
Meag T5_203.710
" @ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.556
max = mean + 15 o = 351.028
3000 Focus = 12873.0
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1500 N

2000

focus 13373 7s HighRes 0
UTC 2025-03-20 03:30:09.92
Meag TS%O3.727
'@ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.542
maxXx = mean + 15 o = 351.503
3000 Focus = 13373.0
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2000

focus 13373 7s HighRes 1
UTC 2025-03-20 03:30:19.93
Meag T6_ZO3.732
'@ = 3
2500 Exposure Time =7.0 s
ModeO
min = mean - 1 o = 300.569
maxXx = mean + 15 o = 351.185
3000 Focus = 13373.0
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1500

2000

focus 7873 20s HighRes 0
UTC 2025-03-20 03:36:44.63
Mea24—23§06 588
o’ —
2500 Exposure Time =20.0 s
ModeO
min = mean -1 o = 282.357
max = mean + 15 o = 670.047
3000 ISR 7873.0
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2000

focus 7873 20s HighRes 1
UTC 2025-03-20 03:37:07.65
Mea24—13106 579
O’ —
2500 Exposure Time =20.0 s
ModeO
min = mean - 1 o = 282.465
max = mean + 15 0 = 668.3
3000 Focus = 7873.0

0 1000 2000 3000 4000



500

1000

1500

2000

focus 8373 20s HighRes 0
UTC 2025-03-20 03:37:34.92
Mea25—4%06 645
o’ —
2500 Exposure Time =20.0 s
ModeO
min = mean-1 o0 =281.173
maxXx = mean + 15 o = 688.723
3000 Focus = 8373.0
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1500

2000

focus 8373 20s HighRes 1
UTC 2025-03-20 03:37:58.03
Mea35=0%%6.626
o = 25.
2500 Exposure Time =20.0 s
ModeO
min = mean -1 o = 281.567
max = mean + 15 o0 = 682.513
3000 Focus = 8373.0
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1000

1500

2000

focus 8873 20s HighRes 0
UTC 2025-03-20 03:38:25.15
Mea27—03606 650
o’ —
2500 Exposure Time =20.0 s
ModeO
min = mean -1 o0 = 279.649
max = mean + 150 =711.672
3000 Focus = 8873.0
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1500

2000

focus 8873 20s HighRes 1
UTC 2025-03-20 03:38:48.15
Mea36=7%(1)6.640
o = 26.
2500 Exposure Time =20.0 s
ModeO
min = mean-1 o0 = 279.88
max = mean + 15 o = 708.049
3000 Focus = 8873.0
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1500 ¢

2000

focus 9373 20s HighRes 0
UTC 2025-03-20 03:39:15.38
Mea37=7226.661
o=27.
2500 Exposure Time =20.0 s
ModeO
min = mean-1 o0 = 278916
maXx = mean + 15 o = 722.841
3000 Focus = 9373.0
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2000

focus 9373 20s HighRes 1
UTC 2025-03-20 03:39:38.24
Mea28—43é06 658
o’ —
2500 Exposure Time =20.0 s
ModeO
min = mean-1 o0 =278.197
maxXx = mean + 15 o = 733.574
3000 Focus = 9373.0
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2000

focus 9873 20s HighRes 0
UTC 2025-03-20 03:40:05.43
Meago=336%6.692
o = 30.
2500 Exposure Time =20.0 s
ModeO
min = mean-10=276.392
maxXx = mean + 15 0 = 761.185
3000 Focus = 9873.0
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2000

focus 9873 20s HighRes 1
UTC 2025-03-20 03:40:28.44
Mea39=7%86.667
o= 29.
2500 Exposure Time =20.0 s
ModeO
min = mean-1 o0 = 276.888
maxXx = mean + 15 o = 753.346
3000 Focus = 9873.0
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2000

focus 10373 20s HighRes 0
UTC 2025-03-2003:40:55.68
Meagz=936%6.680
o= 32.
2500 Exposure Time =20.0 s
ModeO
min = mean-1o0=273.771
max = mean + 15 o = 800.308
3000 Focus = 10373.0
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2000

focus 10373 20s HighRes 1
UTC 2025-03-20703:41:18.65
Meagz—332106 677
O’ —
2500 Exposure Time =20.0 s
ModeO
min = mean -1 o0 = 274.335
maxXx = mean + 15 o = 791.803
3000 Focus = 10373.0
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2000

focus 10873 20s HighRes 0
UTC 2025-03-20703:41:45.87
Meag3=631%6.702
o = 33.
2500 Exposure Time =20.0 s
ModeO
min = mean -1 o0 = 273.086
maxXx = mean + 15 o = 810.943
3000 Focus = 10873.0
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focus 10873 20s HighRes 1
UTC 2025-03-20703:42:08.85
Meag3=2_°i%6.683
o = 33.
2500 Exposure Time =20.0 s
ModeO
min = mean-1o0 = 273.468
maxXx = mean + 15 o = 804.91
3000 Focus = 10873.0
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focus 11373 20s HighRes 0
UTC 2025-03-2003:42:36.19
Meags—4_?,_)06 679
o’ —
2500 Exposure Time =20.0 s
ModeO
min = mean-1o0=271.228
maXx = mean + 15 o = 838.455
3000 Focus = 11373.0
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2000

focus 11373 20s HighRes 1
UTC 2025-03-2003:42:59.28
Meag6—1%06 711
o’ —
2500 Exposure Time =20.0 s
ModeO
min = mean -1 o0 = 270.539
maxXx = mean + 15 o = 849.294
3000 Focus = 11373.0
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2000

focus 11873 20s HighRes 0O
UTC 2025-03-2003:43:26.44
Meag6=2_°é(7)6.645
o = 36.
2500 Exposure Time =20.0 s
ModeO
min = mean-1o0=270.378
max = mean + 15 o = 850.654
3000 Focus = 11873.0
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2000

focus 11873 20s HighRes 1
UTC 2025-03-2003:43:49.44
Meag7=5%(£)16.689
o= 37.
2500 Exposure Time =20.0 s
ModeO
min = mean -1 o0 = 269.135
max = mean + 15 o = 870.003
3000 Focus = 11873.0
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2000

focus 12373 20s HighRes 0
UTC 2025-03-2003:44:15.86
Meag6=831056.670
o = 36.
2500 Exposure Time =20.0 s
ModeO
min = mean - 1 o = 269.854
max = mean + 15 o = 858.9
3000 Focus = 12373.0
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focus 12373 20s _HighRes 1
UTC 2025-03-2003:44:38.80
Meag4=7%26.687
o = 34,
2500 Exposure Time =20.0 s
ModeO
min = mean-1o0=271.922
max = mean + 15 o = 828.163
3000 Focus = 12373.0
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focus 12873 20s HighRes 0
UTC 2025-03-20703:45:06.17
Meag4=6%%6.693
o = 34,
2500 Exposure Time =20.0 s
ModeO
min = mean-1o0=272.023
max = mean + 15 o = 826.74
3000 Focus = 12873.0
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focus 12873 20s HighRes 1
UTC 2025-03-2003:45:29.20
Meag4—6%06 682
o’ —
2500 Exposure Time =20.0 s
ModeO
min = mean-1 o0 =272.007
max = mean + 15 o = 826.807
3000 Focus = 12873.0
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focus 13373 20s HighRes 0
UTC 2025-03-2003:45:56.56
Meagz=23é(6)6.702
o= 32.
2500 Exposure Time =20.0 s
ModeO
min = mean -1 o0 = 274.415
max = mean + 15 o = 790.993
3000 Focus = 13373.0
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focus 13373 20s_HighRes 1
UTC 2025-03-20703:46:19.53
Meag3=5?é%6.674
o = 33.
2500 Exposure Time =20.0 s
ModeO
min = mean -1 o0 = 273.085
max = mean + 15 o = 810.502
3000 Focus = 13373.0
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